EREN-E
1. EARER
HRX S BRI #FEAORE+ BB xR ERIRE RO X BRI #Z 2 AU + Mk B
- K7 4. Oha| - f@RK k< b 0.3ha| - EfFE 2. 7Tha (2. Oha)
- Nl k< 0.3ha| - %l k< + 0.3ha| - TA LY 2. 7ha (2. Oha)
BERE R FaDY 0. 3ha| - RIEZE (MY =L ix) 0.1ha| - I B v 2. Tha (2. Oha)
s KIBHE MY F=0vig) 0. 1ha s XA —ba—> 2.7(2. Oha)
(E{TETE - AEERS) - AOYy 0. 2ha
- Nl k< b 0. 2ha
- BRE@mREA 4. Tha| - B EMEmEET 0. 7ha| - R EmEmTEET 11. 2ha (8. 4ha)
BRX S BRI R 2 A@ M 1E BRI E 1AM E + KT ERIREACRS+ M
- NEB R 3. Oha| - /K& 8.0ha| - /hN&F 7. Oha (5. Oha)
FhvL & 3.0ha| - X= 3.0ha(2.5ha)| - TA XLy 3. 0ha
BERE s TASL 3.0ha| - INE 6.0ha(5.0ha) | - BiE=/NE 15ha (10. Oha)
- INE 3.0ha(2.0ha) | - BiiZE 6.0ha(5.0ha) | * & 10. Oha
(T EHE - AEERE) |- K2 3.0ha(2.0ha)| - R4 — b+ > 3.0ha(2.5ha)|-Ha1L—CAESHEABIL 3. 0ha
8 el e B 3.0ha(2.0ha) | - kE E/NE 25.Oha| - ¥ EMEmEET 38. Oha (31. Oha)
- A4 (%hB) 3058
- AR4 (0~12) 658
-AR4 (12~24) L]
- BRE@ERER 18ha(15. Oha) | - ¥ EmEET 51ha (48. Oha) | - SR EESGT 4288
BRX 5 BERIREARDEEE + H1E ERREARCREESE
- INE 3.0ha| - #E 38. Oha
s TASL 3.0hal - & (FE#) 4.0ha
BERE - BE 14.Oha| - ¥4 L—SRESEATL 8. Oha
SHAL—CREESHEBIL 3.0Oha| - ¥E @& 50. Oha
(EHEE - AEERE) | - BE@mEST 23.0ha| - 4 6058
- BEY 30%E| - .4 (0~12) 1288
- BRY 638| - F4 (12~24) 2388
- T D 1288
- fAETELK 48%H| - AAEBEHGT 9588




2. ERERERENK
BEXS ERERVBERORE+ERER
- KR 20.Oha
-4 kv 0. 3ha
RERE -BEFaoY 0. 3ha
- RARE MY =10V 0. 3ha
(fE{HETE - SEEHRF)
- REmEE 20. 9ha

2. EXRZREREHK

BREXS EZRUBERORE+ERBER
- KFE 12. Oha
- 0 b2 0. 3ha
REMRR - REEFaY 0. 3ha
- RARE MY =10V 0. 3ha
(PR - SABEHE)
- REmEE 12.9ha
2. fAMEER
HERS HsREAROMIE SR EARQMIE + KTE HBREKRQER
- EB R 8.0ha| - JK%# 9. Oha| - BE5EMERK 35088
- BHE 8.0ha| - K& 6. Oha
RERE s TAEL 8.0ha| - /NE 3. Oha
S el e E 8.Oha| - B 6. Oha
(fEfHETE - SEERSE) s TAEL 12. Oha
- EL R 9.0ha
- REEER 32.0Oha| - EEEET 45.Oha| - EREEA% (BETEMERR) 35088




